October 18, 2019

4.7 Solving Counting Problems
Explore pg. 283 together & Investigate pg. 283 in partners
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EXAMPLE 1 Solving a permutation problem with condltlons

A piano teacher and her students are having a group photograph taken.
There are three boys and five girls. The photographer wants the boys to sit
together and the girls to sit together for one of the poses. How many ways
can the students and teacher sit in a row of nine chairs for this pose?
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For another pose, the photographer wants the two tallest students, Jill
and Sam, to sit at either end, Jill on the left and Sam on the right, and the

teacher to sit in the middle. How many different seating arrangements are
there for this pose?
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EXAMPLE 2 Solving a combination problem involving multiple choices

Combination problems are common in computer science.

Suppose there is a set of 10 different data items represented by

{fa,b,c,d, e £ g h, i, j} to be placed into four different memory

cells in a computer. Only 3 data items are to be placed in the first

cell, 4 data items in the second cell, 2 data items in the third cell,

and 1 data item in the last cell. How many ways can the 10 data @9

items be placed in the four memory CGHSFR &
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EXAMPLE 3 Solving a combination problem involving cases
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Solve the problem above using indirect reasoning. To do this, you will need
to consider the total number of five-card hands as well as the number of
five-card hands that do not meet the condition “at most one black card.”
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Homework: pg. 288 #1, 2,5, 6,7,9, 10,11, 13,14, 16, 1Z_
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